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General Instructions:

1 All questions are compulsory, — ‘
2. The question paper consists of 31 questions. divided into four sections A, B, C and

D. Se.ction-A comprises of 4 questions of 1 mark each} Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each,

3. There is no overall chote in this question Ppaper.
4. Use of calculator js not p%.
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Question nu}l berslfo4carry ne mark each

fgmm aeten 348x2 + 19 = 03

‘ _}\ V3x x 3 %mﬁﬁm - z o
Find the dxsc_:n‘rr;:nanf ;ft;equa tic equation 3/3x2 4. 10x + 3 = g

T 10 m 39\ TR Wl 1) g : '

i N aﬁﬁ%fﬁ?ﬂfaﬂmmwl_

A pole 10 m high casts a shadow 10 m long on the groung What is the eleyar:
5 : . : ¢
ﬁm@wm&r Tﬁﬂ?ﬂt{i E'Ffiq'{WﬁF@Ta?ﬂﬁﬁmmm ; le ation of the Syn? 1

Two dice are rolled together. What is the probability of getting a douplet (ie. same number

T &1 1

on both dice) . |
g (3 m, 6) 7T (—4, 3 n) % TEIETS H AF-f05 (1, 2m—1) 1 1 T T Fifere .
The " mid ~point of the line segment joining (3 m, 6) and (4 3 B s

s _ ind the value of n.
(1, 2m~1). Find the v, AT / SECTION-B

i e 10f 6
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Question numbers 5 to 10 carry two marks each.
S AP:2,8,14,20,.... 1 % €T 628NN 7
Which term of the AP : 2, 8,14, 20, ..... 562 7 !
6 afe, fger TR 42 4 ax -+ k=0 3 el arfereh e firt &, 1 k 2 I A e ) 2
If the quadraticl?quation x2 + 4x -+ k =0, has real and distinct roots, find the value of k.

B S
. 0
e #, 9 %1 % 0 1R £PsQ=30°8 1 £APQ W HIfT | N SO

= p
L b0

;; ‘;"1“ g . | b \ \ | \\\
Q 0 % % \ '
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In th?‘figure, O is the centre of the cirﬁiq an(! ZPSQ = 30°. Fipd AAPQ.":
8 ﬁgmaﬁ@uﬁamﬁwmqaﬁigmﬁ@ﬁng@m%ﬁm%mm 2

@t

SRR |
State the theorem oftriangles,/vmc}ﬁs used for dividing a line segment in a given ratio.
" \.\ 1 2

N

B |
form #, <1 et gl # BT 12 em 817 cm &1 T o foig p A T 9 o vt Yt @i
g1 afgpaA=16 cm @, @ PR/IW FIfTT|

B . :
In the figure, the radii of two concentric circles are 12cm and 7cm. Tangents are drawn to these circles

from an external point P. If PA = 16cm, find PB.

10 571 21 cm TS T A 3 st W o R AT A 9 et 1 Gl I R
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Find the area of the largest triangle that can be inscribed in a -
| e - micircle of radius 21 cm.
¥7A HZl 11 A 20 1 UeAF F 3 HE 5
Question numbers 11 to 20 carry three marks each.
AP: 15, ~13, ~11,., ?ﬁmfmﬁm - 558 ?

How many terms of the AP : —13, ~11,.. are needed to make the sum —557?

598 BiF10 942 — 1544 6 = G"T"J’I‘{m'ﬂ?“—f%‘!ﬁﬁ 4 5 Fifaw

So
lve the quadratic equation 9x2 — 154 4 6=0 by the method of completing the square.

ﬁms:mmaﬁmmwnscmamenwﬁsmﬁmﬁgpﬁrawwqﬁml

Szggta:ggi;t: circle of radius 5 cm from a point P, at a distance of 8 cm from its ce tre.
. ELiks Wmﬁwwnsonmaﬁqﬂw yfi & 3 g 3

Z WEHWWHEMI

A tree is broken by the wind. The to

p struck the ground at an angle of 30° i
metres from the root. Find the whole height of the tree. g ELQ\a\nK(é’st ce of 30
3

7 A e v F e d g 3 TR 0 FIG o S ot \

(i) == - em fafadi w2
iy wEFHFRETE

" _ = . .
Surya and Sambhita are studying in thg-'sgﬁle class what1s the probability-that both will have :

(i) different birthdays ' 7

(ii) same blrthdays - \\ 3

Az 43 A2, —2) A, 7) 5= (2, 3)amq¢qamf@m's’,\ X3 (é‘s) HH 6 FHifsw |
If the points A (2, — 2} and B(x, 7) lie on a circle with the centre (2 3), f.nd the value(s) of x.

fag A4, —8), B(—— 1) AR (4, 1) v 9= ABC F 7 € ﬁgpramm%amaﬁms%

ﬁmqﬁwm?l 231 ¥#R, g q Yo Ac mﬁaa%a/mms 4% um ¥ fawfsa s
#\| Tzl p 7 o % fréwis 9w Fifoe

#

. 1
Points A(4, —8), B(— 5, 1) and C(4; 1) are'vertices of.a/triangle ABC. Point P lies on side AB and

divides it in the ratio 4:5. 5:ﬁ4%po.nt Q lies on side AC and divides it in the ratio 5:4. Find the
coordinates of points P and Q.

A7 FI0 % 0% ga chﬂaﬂldﬁmm%ﬁﬁﬁmaﬁwﬁﬁ et am=d
36cm,25cmvm165c ﬂﬂﬁ?%ﬁﬁzﬁwcm%wﬁlcﬁﬁ%mmng%ﬁr
7 Hgw F 9 4T Eﬂﬁ FHITT | /S

Find the volume of iron requirgd to construct an open box whose external dimensions are 36

cm, 25 cyz{\ndiﬁ 5 cm,\pr jed that the thickness of the metal is 1.5 cm. If 1 cm3 of iron
weighs 7.5 g, [ind dIbO the welght of the box.

) S THIE F T UAEd % SR F 69K 9 BaEd ¥ w9 5 1
FE19 30° € 3R UF TF &1 51 12 m 1 SRR AW H S 9@
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50 m

30° / 307
‘ 70 m
In the given figure, a trapezium shaped wall of a 20 m high bridge displays an advertisement I'H the
form of two sectors of central angle 30° each and radius 12 m each. Find the area of shaded portion.
50m

7

30° ////“r 300!’

70 m
20 @%#Tﬂﬁmmﬁcmﬁlﬁﬁﬁaﬂmwwmaﬁmmwa
36 cm Tel TR SETET T | T TR 1 a1 9 Hifere |
The diameter oﬁ,a metallic sphere is 6 cm. 'l‘he_gph?rg__igmg_l‘tfd and drawn into long wire of
uniform cir(:t/llar cross-section. If the length of wire is 36 cm,
/ @ue-q / SECTION-D

T WA 21 931 H WAd & 4 37§
Questic:}i: numbers 21 to 31 carry four marks each. \

21 2506%11000%ﬁﬂwuﬁu@13ﬁm#mwmaﬂﬁmGﬁﬁﬁaa?‘ugh: & It g 4

{ Find thJ sum of all numbers between 250 and 1000 which are exactly divisible by 3.
2—" wuﬁwﬁm%waﬁmmﬁm@ﬁgmﬁmaﬂmw%r dad o w4
' 5 ® Tl 0 au1 Bt Yo W T |

The hlpntenuse of a right triangle-is 4 times the smallest side. The third side Is/ v/735. Find Lhe
hypotenuse and the smallest side.

AP%gwsqa‘famm100"2:34‘119%19@#{%551%@%9 g 3R 9 w4

find its radius.

3 9 | /
The sum of the first 8 terms of an AP is 190 and the sum of its first 19 terms js/551. Find the first term

L/Mand the'common difference of the AP, !

%% 0 91 39 ¥ fiig Q R QR T w9 W@ &1 oR AQ THIT ¥, eIl AQ =T AB ¥ BR A W

TF et &1 fag Fifee f&F B ) oyt W@ er £
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QR is a tangent at Q to a circle with centre 0. OR is parallel to AQ where AQ is 2 chord through A, the
end point of diameter AB. Prove that BRis a tangent at B.

2 ﬁﬁgﬂﬁn:2mmaﬁé§qanep~mecaﬁmmfaaﬁaa=s.zm, LB=45° FW 4
BC=6cm &l

M Construct ADEF ~ AABCin which AB=5.2 cm £B=45° and BC=6

,using scale factor 1: 2.
100 m 9121 31 =41 & =15 SEFT U 4

o

TR S % 2 i T e 5 < o ws g £
fooa st foig w59 wiagy [ 5
Fifs |
Two pillars of equa eights are on either side of 2 road, which is 100 m wide. The angles of elevation

of the tops of thespillars are 60° and 30° at a point on the roajd between the pillars. Find the position
of the point between the pillars. i

%@wﬁué;ﬁwaﬁmmmwﬁanwmmqﬁmwhwmﬁﬁa 4
[/ T F1E ST § | $9H1 YR 1 Hifer 26 18 3 T e
(4) o faua den g et
(B)  25F o1t wH wem & N\
] 5 "
(€ Tyl o Hem & \
(D) 40 B < T a4 wem £ \
Cards marked with the numbers 11 to 50 are placed in a box and mixed thoroughly.\()ne card
is dawn from this box. Find the probability that the number on the card js :‘
(A) an f?d d number. ‘
(B)  anumber less than 25. \
(C) a number, which is a perfect cube. __
D) a prilme number greater than 40, \

% felt Bt 90 (2, 0), (2, 3) AR, -3 %1 7 2% gt g ferorag a1

& FFF I 60° =

|

[ELEED i T e | | \
The vertices of a, triangle are (-2, 0), (2, 3) and (1, —3). Is the trianglg-€quilateral, scalene or
\Msosc'eles? Also, find the area of the triangle. \ . _
' waﬂfmvra%asaﬁaﬁ T Gl F1 FM 9E TE ¥) 5 Tm’ram &Ie IR i, R & 4
& ST , 80 m Fa1ell ameh-at % < el % g T
A 80 m R

80m 80m

[
D 80 m C

A square park has a flower bed designed in between. Calculate the area of the bed shown

figure common between the two quadrants of two circles of rad ius 80 m each.

http://jsuniltutorial.weebly.com/
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A 80 m B

80m 80 m

D I_C

. 80m . . X
U ¥ig 1 S 40 cm ¥ 1 3% SR 3 GHIR T 9 50 SR & Th DI U el S ¢ A
ﬁﬂ?ﬁwﬁq@%%ww%%,a‘ranan@ﬁm‘lfﬁﬁmﬁgqﬁmw%?
The height of a cone is 40 cm. A small cone is cut off at the top by a plane parallel to its base.

If the volume of the small cone is Ba— of the volume of the given cone, at what height above

the base is the section made?

Amfa e Ta s o W g I T ST A g <t € 1w fafie w6, @ o= % fag
R T A 3 W ¥ 1 3 32 9, 9w - 7cm$,12ﬁ38\cmaﬁmsﬁmﬁrwwaﬁ
e 1 G el § | S e ST 9 A Ul T e 9 F A, e A

AT % ST 3 AT B SR 1 S T Y 7 23 5 e 54 e 2
Miss. Amrita/Rao donates some part of her income to an orphanage every month. In a
particular myionth, she wishes to donate balls fcr the children. For the same purpose, she

decided tg choose a ball of three different sizes of diameters is 7 c¢m, 12 cm and 18 cm
respectixz. y- Find the volume of each ball: Calc@late ihe volume of aball whose combined
js equal to volumes of three balls. Why Mrs. Rao decided to donate?

"~ volume
/ -0000000-
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